R~ 5
V=6t SiXgt fXo+ o+ fx+ U

Var (U] X) = o

APEHERFS 1

Ch.8 " — 7%

OLSTO AR — D EDIFEE

OLSHEE £ DA — 7 BB A HE R
T —HDEDRTE
MEZ/N_FEWLSHE

B HERETIL(E)*

I VO S

APEHERFES 2

> =
8-1 OLSTOAHE—NEDIFHE
@R —RNEDELETOOLSHE =
s OLSHEEEIFKAREL TR RE—BHES
s ROFBIREELLEEL
2~ 1 O BEMBEABITH-—HBE
a2 PEAEREN R OBEESFRL
EEAR
+ OLSHEEEDHHIEFEMTIFAL
s BEDOHRELFREITAEMNTHN
* OLSH#EE E(EBLUETIX AL
» KU ERORFE

AFETBRFS 3

8-1 OLSTORI— R HDIFEE

£(y|x) y

1
E(X) =4 + Bix

X X, Xq X

APEHERFES 4

82 FH—HEOERE R
SR — N BUERHRETE

s TRTOHBRIKRIZATOHE

» P — D ERARIZAEIRZEHRSE

7 2252
Li=1 FU7

Var(8)) =

» White-Huber-EickeriZ #5528 L £ F 75
= TOEFXEXEMDHRBEHRICERLIzEEDK, Th
ThOHREDENED,
¢« COFERERAV-ERE OURE T #HERICHFZ)
* BEOFE IR — 2B TEENTIEGNA, C
DFHERXIEZLDY I+ 7 THERATEE
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82 FH—5HOBERIER

Bi=p5+ M, where SST, = > (x, - x)

SST,
R x —X)o?
Var(ﬂl):% 8.2),

A valid estimator for this when o7 # ois
Y (% - RFa
EstVar(g |==——"—""1 (8.3),
b= @
where U; are the OLS residuals

AFEtERFS 6




82 A —5 B D TRIERIHESR
G £k

Iog(wa_qc) = .128 4 .0904 cduc + .0410 exper — .0007 m:p(’r2
(.105) (.0075) (0052) (.0001)
[-107] [.0001]

. HRSEIiEﬁ@*ﬁ%EEﬁ%&U%jt%(%/l\é(%ﬂ:;éb‘l
(REBERDHET) ZTDEIEERIZIE/NELY

¢ P —DBUESTIEZDENKRENCLEH D12
HICHRSEZFHTHAMNELY

s FIRTE
Ho : Bexper = Bygpe,2 =0
F=17.95 Fropys = 17.99
» FIELREROMIAL
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8-3 RHI—HNHDRTE

R —HEORE

» T —DEOEEIE, OLSHREEMLL IR
HEEETHINEINEEET H-HEE
= MLR.5
|Hg :Var(uley, xg,...,2) = Var(ulx) = n_gl
* FEDEREMLR 4ELY
Var(u|x) = E(u?|x) — [E(u|x)]? = B(u?|x)
u Var(a) = E[a - E(a)]2 = E(a?) - E[E(a)]?
= MLR.4: E(ujx) =0
= E(u2|.'1:1. o) = E(u?) =02
» UDFEHIEx, x,, . x DEBNHEE R
PNREE -2 8

4t =
83 NE—HDIRTE
J@Breusch-Pagan test for heteroskedasticity
n WADX, Xy, ..., X DEEERTE (BP)
2 = b6 + 6121 + -+ + g + error
Hy:61=6s=---=§,=0
o REHREE

‘/k «— KECREMEHEELRY)
LR REB R T B3
1=RE:/(n—k—-1)

LM =n -~ )(E

F=

Mi#ghEt & (Lagrange multiplien)| =80T
L\i‘ﬁ EHE (BLRY)EMDHAFHEA
ERBAZ M EAER LWV SR BR A A

AFETBRFS 9

8-3 FH—HHDIRE
S PIs4 EEMEDTH—HERTE

o L AL (GESRHED)
price = — 21.77 + .0021 lotsize+ .123 sqrft+ 13.85 bdrms
(29.48) (.0006) (.013) (9.01)

= RZ: = 1601, }p—valuep = 002, p—valueyyy = 0028 |
n X4

log(price) = — 1.30 + .168 log(lotsize)+ TOO log(sqrft)+ 037 bdrms
(.65) (.038) (.093) (.028)

= RZ, = 10480, | p—valuep = 245, p-valueyy = 23901

o LX) — D BEE

AFETBRFS 10

8-3 RH—THADIRTE
| ® The White test for heteroskedasticity
m WADX, Xy, -0, X DELEEIETE (White)
@2 = dg+ 8121 +521.2+6313+6411+65.c2 +65.53
+é7z170 + dgriT3 + domws + error
Hy:0 =dy=:=08=0
CHEMMHE LM =n. R:~03
= White test® A Y b&T A vk
+2RIE, REEEOBHRLEEL. BPRESY— iR

*IRTORIR-RERZEU L. RBEDBABKIC
(f5l : k=6 D EZ271R D
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8-3 AH—HHIDRE

@ Alternative form of the White test

B 2ADX, Xy, ..., X DFEERTE (White 2)

i2 = do+ 015+ 8552 + error
CWADFEBEYEY DO FRIEEZ AV THENICRE
= v DT BB REAZH. 2RIE, REBFEECLRTE

Ho:86,=0,=0, LM =n R%; ~x3

s 8.5 EEMIE DR — 7 EHETE (R EhR)
R2, = .0392, LM = 88(.0392) ~ 3.45, p—valuey,; = .178

— S ORERGEENTELR

AFEtERFS 12




8-4 MER/NZFIAWLS
" ®Weighted least squares estimation
m 8-da RH—HEABRMDT—R
¥i = Bo+ 1z + -+ + Brer + i
[Var(ux;) = o2h(x;), h(x) = b > 0|
u T — 580D RIS S (L BEAT

ox

o A e S RIS .
= [l =l [l v [+ [
© y = Boxio + Arzir + - + By +uf

APt ERZFE 13

8-4 ME&HR/NZFEEWLS

‘j@@]:ﬁ?geﬁﬁﬁ

sav; = Bg + Brine; + i, Var(uijine; = o2inc;
i 0 1 i is i i

L] E?ﬁfﬁﬂ)@')w'ﬁl liﬂ]H‘fJ\&L\\_&l:E,’é
s TREOETILIEH—5E8

2 E(u2 2
E(ui?x)=E |:(~—u’ ) \x,] = Eluilx) =202

VI ki h;

+ D Gauss-MarkoviR ELRIRICHIIT 5156 . £t
SNFETIVISERAINDOLS I, RERH T FH#
EEEHS
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8-4 MEHwR/NZFEEWLS

(?@WLSIZ’)L\(
- MEREFHHORM; Wl
o (] <[] 38 ()
< mmlg(J,—bo bl‘-l—-“—b“k)?@

» SELRIEICHELT, PRFfJ\bd)’l‘.%’é?ﬁ‘j(%b\ﬁiiﬂﬂélit’
ZOEBHEECT BESITEHE (=LY KREL )
* IEEWLSIXOLS KLY EEN RO M ?
» RERESDEEHESITAEIL DMIREDDEEHESHE
EEEARTHUND, LYDENE
* WLSI&, —f2{b&/N 5 (GLS) D4FH% 7 —R
AP EEFE 15

8-4 MEH/NZFEAWLS
SBIS.6: RREE R iy

[l TABLE B.1 Dependent Variable: nettfa
|| Independant i @ @
|| Varishlas oLs WLS oLs

[ e & 0 m !
| (104 @, 100y
I (age - 8¢ - - m
(0043
male - - 248 184
. WLSHEEED1F
) 050 | ez ey
otk - - (1] 5181 hEO (&YBhER
H0IKEEHESM R 00 gtz melnS
L 1057 058 0% 1570 | EREEAH)
259 1) 2] (1.96) H
Dbsaratons 2017 2007 27 207 1
Besquaned gzt i) 1279 15 E
APIEHEREFE 16

8-4 MEHR/NZFAEWLS
CEELHKT—X
o BUAHEAERT/EY/ N /E/ R LD FHETH
PIGEF. TOEREROHTNENIVE
contrib; = ;30+51émi+ﬁzim7€,‘+ﬁ3mrafe,'+®
ﬁ#iﬂ)%ﬂf)\&ﬁﬁ‘% TRONE LRl
= Var(uy;) = Var (i Z u;_f) -——
1 BALANLTH—HE-T L—T Y TETRY— 58
n DEREMEFELNDY A EFERALIZWLSTH#E

s AALRNILTOHEDBORENERTHELGS  WLSH
E#ICHRSEZEHE
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8-4 MEHwR/NZFEEWLS

(§©8—4b ERED A — 53 ERBE 4 (feasible GLS)

s R —DEHRO—BRBEEE
|Var(u|x) = o2 exp(So+d1214+- - +opap) = azh(x)l
= BRENBCOTHS=0. IBHREHREER
u? = o2 exp(dg + Sy + -+ + Spap) @
n Vi RBAEREIHILTVEE S DIRE
= log(u?) = ag + 41z + -+ t+e
log(ii?) = Gg + d121 + - + Sy + error
5 h; = exp(ag + Sywy + - + Sy
s HEEL-TH— D AR OFEREWLSO YA bELTHER
+ Feasible GLS($—EHE T 2 &OLS &Y & #%h ZE 4
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= - 3
8-4 MME&HKR/PZFIEWLS
®BI18.7 ZNIDE
= OLSIZ&BHETE
cigs = — 3.64 + .880 log(income) — .751 log(cigpric)
(24.08) (728) Lo (5T7T3)
— 501 educ — .771 age — .0090 age® — 2.83 restaurn

(.167) (.160) (.0017) (1.11) #@ELARE
TUDEE

n =807, R? = .0526, P—value greusch—Pagan =
* RY—HOBRE  TH— 2B ORGZEEH

APt ERZFE 19

8-4 ME&HR/NZFEEWLS

s FGLSIZ&LDHEE

cigs = — 5.64 + i-l-.-é-o--hog(incomc) — 2.94 log(cigpric)
(17:80) " (44) (4.48)

— .463 educ + .482 age — .0056 age? — 3.46 restaurn

(.120) (.097) (.0009) (.80)
n=807,R%=.1134

* TR EAMEAFGLS TIXMETMNAEE
+ FGLSIZ 2R BDEEREMNOLSKY/NEL KYIE
IS E LT RS

APjEtERZFE 20

8-4 MEH/NZFEWLS

®8-4c FHY—NEBEBDESIHFEEL
s RN — DB BN R-THELSNDE. ..
* MLR.1-4DHETWLSIERARELT—HIHEEE
» LA U IS EHRSEE S B T R &
» FBFLEMLR AN L TOBE LRSI
Bulx)=0 = E((u//h(x))ix)=0
+ OLSEWLSDHEEEMNEREICERDIGEE . EF. K
TE (BIZ[EMLR 4) HELE-S TSI EERIE
¢ BT — A HLIEE . IREEDHIZRT
BELCEREESANBNT—INZLY

AFETBRFS 21

8-5 fRMHEEETIL(H)

SEHMEEET L TOWLS

Py = 1|x) = p(x) = Bo + b1y + - + Bray,
LPMTEFH—5

= Var(ylx) = p(x) [1 - p()] < gomun e
> k= - gy PRI
B
s LPMP AN EOUTELIZILYREVGE  RTF
T

* FDESBT—ADNENTHLEE . HIEZE0.01 /
0.99(ZER%

s FNLS DS AL, OLS CRERITIZEA IR EHRSER
HETEZANEN
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iR FHY—HEORH

@ Under heteroskedasticity, we assume:

= Varlyjx] = E[y; - Elyilx] x> = o (a.)

= E[yilX] = £+ Bixi= 4. (a.2)
@By Taylor series expansion, we can get

m f(yp) = f(24) + £ () (Vi — 14)- (a.3)
@ Here, since f(z4) can be treated as nonrandom

variable under conditional X,

= E[f(ypxi] = f(u). (a4)

AFEtERFS 23

Cont. RHE— DB DR

Var[f(y)Ix] = E[f(y;) — E[f(ypIx] x> <@
= E[f(y;) — f(18) x;]? —(a4)
= E[f(i)(y; — 1) 6 —(@3)
= P (W) E[(Y; — 14) ]

= {Fw)}’o? —(@l)
If we assume f(y;) = In(y;) & o7 = E[y;x]%,
P2 o? = (1} otu? —(a.2)
=2 (Homoskedasticity)
AP EtEREFE 24




